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TuE problem! is to arrange the numbers 1, 2,3, - - -, 21 11 a circle in
10 ways, so that nc number has the same neighbours in different arrange-
ments.

Let (1, 2,3, -, m) denote the arrangement of the numbers 1, 2, 3,
... in a crcle, so that | has 2 and m as neighbours, 2 has 1 and 3 as
neighbours, ete.

The 10 arrangements are as follows :—

(i) (1,2 8,45 67,89, 10, 11, 12, 13, 14, 15, 16, 17, 18, 19,
20, 21)
) (2, 4 6,8, 10, 12, B4 16, 18, 20, 1,3, 5,7, 9, 11, 13, 15,17,

19, 21)

(i) (4, 8 12, 16, 20,3, 7, 11, 15, 19, 2,6, 10, 14, 18, 1, 5, 9, 13,
17, 21)

(iV) (5; 1(); ]5; 20) 41 E)) I'li 19) 3! 87 13’ 18’ 2’ 7’ 12’ 17’ 1’ 6’ 11’
16, 21

(v) (10, 20, 9, 19, 8, 18, 7, 17,6, 16,5, 5, 4, 14, 3, 13, 2, 12, [,
11, 21)

(Vi> U (), 17, '«1; 12; 2“; 7: ll, (.)) I(')) ]I, :)” IG’ ‘.;’ 21’ ]3’ 5’ 18’ J'U’

wi (L 4, T, 10, 15,20, LT, 14, 118, 5, 2,09, 6,3, 21, 18, 15, 12,
19, 16)
(vii) (13, 7, 1, 19, 5,20, 14, 8, 2, 11, 17, 3,9, 15, 21, 6,12, 18, 4,

10, 16)

) (L 10, 19,7, 16, 4, 13, 6, 15, 3, 12, 21, 9, 18, 11,20, 2, 14, 5,
17, 8) |

(0 (1, 13, 19, 4, 11, 5, 12,9, 16, 9, 17, 10, 3, 18, 6, 20, 8, 15, T,
21, 14)

1 The solution given here is simpler than that of Gul Abdulla and Lal Bahadur,
Proe. Indian Acad. Sei., (A), 1939, 9, 103.  As far as the auhor can sce the above solution
is not a permulation of their solution !!



